# The error term of the sum of digital sum functions, in arbitrary bases 

Erdenebileg Erdenebat ${ }^{1}$ and Ka Lun Wong ${ }^{2}$

${ }^{1}$ Faculty of Math and Computing, Brigham Young University-Hawaii<br>55-220 Kulanui Street, Laie, HI 96762, USA<br>e-mail: erdenebileg@go.byuh.edu<br>${ }^{2}$ Faculty of Math and Computing, Brigham Young University-Hawaii 55-220 Kulanui Street, Laie, HI 96762, USA<br>e-mail: kalun.wong@byuh.edu

Received: 30 August 2023
Revised: 2 May 2024
Accepted: 13 May 2024
Online First: 19 May 2024


#### Abstract

Let $k$ be a non-negative integer and $q>1$ be a positive integer. Let $s_{q}(k)$ be the sum of digits of $k$ written in base $q$. In 1940, Bush proved that $A_{q}(x)=\sum_{k \leq x} s_{q}(k)$ is asymptotic to $\frac{q-1}{2} x \log _{q} x$. In 1968, Trollope proved an explicit formula for the error term of $A_{2}(n-1)$, labeled by $-E_{2}(n)$, where $n$ is a positive integer. In 1975, Delange extended Trollope's result to an arbitrary base $q$ by another method and labeled the error term $n F_{q}\left(\log _{q} n\right)$. When $q=2$, the two formulas of the error term are supposed to be equal, but they look quite different. We proved directly that those two formulas are equal. More interestingly, Cooper and Kennedy in 1999 applied Trollope's method to extend $-E_{2}(n)$ to $-E_{q}(n)$ with a general base $q$, and we also proved directly that $n F_{q}\left(\log _{q} n\right)$ and $-E_{q}(n)$ are equal for any $q$.


Keywords: Digital sums, Asymptotic, Error term.
2020 Mathematics Subject Classification: 11A25, 11A63, 11N37.

## 1 Introduction

Let $q>1$ be a fixed integer and denote by $s_{q}(k)$ the sum of digits of $k$ written in base $q$ when $k$ is a positive integer, i.e.,

[^0]$$
s_{q}(k)=\sum_{i=0}^{m} a_{i}
$$
where $k=\sum_{i=0}^{m} a_{i} q^{i}$ for some non-negative integer $m$ and $0 \leq a_{i}<q, a_{m}>0$. Define $s_{q}(0)=0$.
It was L.E. Bush [3] who first showed in 1940 that
\[

$$
\begin{equation*}
A_{q}(x)=\sum_{k \leq x} s_{q}(k) \sim \frac{q-1}{2} x \log _{q} x \text { as } x \rightarrow \infty . \tag{1}
\end{equation*}
$$

\]

In 1948, R. Bellman and H.N. Shapiro [2] proved that when $q=2$,

$$
\begin{equation*}
\sum_{k \leq x} s_{2}(k)=\frac{1}{2} x \log _{2} x+\mathcal{O}(x \log \log x) \tag{2}
\end{equation*}
$$

Their method was extended to an arbitrary base by C. Gadd and the second author [7] recently with the same error term, and they also fixed a major error in Bellman and Shapiro's paper [2], although the error term was not the best possible one.

In 1949, L. Mirsky [8] proved that

$$
\begin{equation*}
\sum_{k \leq x} s_{q}(k)=\frac{q-1}{2} x \log _{q} x+\mathcal{O}(x) \tag{3}
\end{equation*}
$$

where $\mathcal{O}(x)$ is the best possible error term. Many other authors have also proved (3) using different methods ( [1], [4], and [9]).

In 1968, J. P. Trollope [10] discovered the following result: Let $g_{2}(x)$ be periodic of period one and defined on $[0,1]$ by

$$
g_{2}(x)= \begin{cases}\frac{1}{2} x, & \text { if } 0 \leq x \leq \frac{1}{2}  \tag{4}\\ \frac{1}{2}(1-x), & \text { if } \frac{1}{2}<x \leq 1\end{cases}
$$

and put

$$
f_{2}(x)=\sum_{i=0}^{\infty} \frac{1}{2^{i}} g_{2}\left(2^{i} x\right)
$$

Now, if $n=2^{m}(1+x)$, where $0 \leq x<1$, one has

$$
\begin{equation*}
\sum_{k=0}^{n-1} s_{2}(k)=\frac{1}{2} n \log _{2} n-E_{2}(n) \tag{5}
\end{equation*}
$$

where

$$
\begin{equation*}
E_{2}(n)=2^{m-1}\left(2 f_{2}(x)+(1+x) \log _{2}(1+x)-2 x\right) . \tag{6}
\end{equation*}
$$

This explicit formula of the error term was derived based on a function $\phi$ related to a part of an explicit formula of $A_{2}(x)$, and a continuous extension of $\phi$. Trollope said that his result could be generalized for any base $q$, but that the calculations are much more complicated.

In 1975, H. Delange [6] extended Trollope's results by a much simpler method that even works for any base as follows: There exists a function $F_{q}: \mathbb{R} \rightarrow \mathbb{R}$ of period one, which is continuous and nowhere differentiable, such that

$$
\begin{equation*}
\sum_{k=0}^{n-1} s_{q}(k)=\frac{q-1}{2} n \log _{q} n+n F_{q}\left(\log _{q} n\right) \tag{7}
\end{equation*}
$$

for all $n \geq 1$.
In fact,

$$
\begin{equation*}
F_{q}(x)=\frac{q-1}{2}(1+[x]-x)+q^{1+[x]-x} h_{q}\left(q^{x-[x]-1}\right), \tag{8}
\end{equation*}
$$

where

$$
\begin{equation*}
h_{q}(x)=\sum_{r=0}^{\infty} \frac{j_{q}\left(q^{r} x\right)}{q^{r}} \tag{9}
\end{equation*}
$$

and

$$
\begin{equation*}
j_{q}(x)=\int_{0}^{x}\left([q t]-q[t]-\frac{q-1}{2}\right) d t . \tag{10}
\end{equation*}
$$

Delange's method was based on turning the coefficients of a $q$-base expansion of an integer into integrals, followed by evaluating the sum of digital sum functions in terms of those integrals.

Delange even derived a more general formula for the sum of digital sum functions up to a certain real number $x$. The formula says, for all real numbers $x \geq 1$, we have

$$
\begin{equation*}
\sum_{n \leq x} s_{q}(n)=\frac{q-1}{2} x \log _{q} x+x F_{q}\left(\log _{q} n\right)-h_{q}(x)+(1+[x]-x) s_{q}([x]) . \tag{11}
\end{equation*}
$$

As Trollope suggested, Cooper and Kennedy [5], in 1999, extended the error term $-E_{2}(n)$ to $-E_{q}(n)$ as follows: Let $g_{q}(x)$ be periodic of period $\frac{1}{q-1}$ and on $\left[0, \frac{1}{q-1}\right]$ be equal to the piecewise linear function connecting the points $\left(\frac{a}{q^{2}-q}, \frac{(q-a) a}{2 q}\right)$ where $a$ is a nonnegative integer and $0 \leq a \leq q$. Let

$$
f_{q}(x)=\sum_{i=0}^{\infty} \frac{1}{q^{i}} g_{q}\left(q^{i} x\right) .
$$

Now, if $n=q^{m}(1+x(q-1))$, where $0 \leq x<1$, one has

$$
\begin{equation*}
\sum_{k=0}^{n-1} s_{q}(k)=\frac{q-1}{2} n \log _{q} n-E_{q}(n) \tag{12}
\end{equation*}
$$

where
$E_{q}(n)=q^{m}\left(f_{q}(x)+\frac{q-1}{2}(1+(q-1) x) \log _{q}(1+(q-1) x)-a_{m}\left(1-a_{m}+(q-1) x\right)-\frac{\left(a_{m}-1\right) a_{m}}{2}\right)$,
with

$$
\begin{equation*}
n=\sum_{i=0}^{m} a_{i} q^{i}=a_{m} q^{m}+n_{m-1} . \tag{13}
\end{equation*}
$$

In Section 2, we will show that $-E_{2}(n)=n F_{2}\left(\log _{2} n\right)$ directly. In Section 3, we will show $-E_{q}(n)=n F_{q}\left(\log _{q} n\right)$ without all the details, but point out some differences from the base 2 case.

## 2 The binary case

Define $\{x\}=x-[x]$, i.e, the fractional part of $x$. From (8), for $q=2$, we have

$$
\begin{equation*}
F_{2}\left(\log _{2} n\right)=\frac{1}{2}\left(1-\left\{\log _{2} n\right\}\right)+2^{1-\left\{\log _{2} n\right\}} h_{2}\left(2^{\left\{\log _{2} n\right\}-1}\right) . \tag{15}
\end{equation*}
$$

If $n=2^{m}(1+x)$, then we have

$$
\begin{equation*}
\log _{2} n=\log _{2}\left(2^{m}(1+x)\right)=\log _{2}\left(2^{m}\right)+\log _{2}(1+x)=m+\log _{2}(1+x) . \tag{16}
\end{equation*}
$$

Since $0 \leq x<1$, we have $0 \leq \log _{2}(1+x)<1$. Thus, we can conclude that $\left\{\log _{2} n\right\}=\log _{2}(1+x)$. With this equation, we can get

$$
2^{1-\left\{\log _{2} n\right\}}=2^{1-\log _{2}(1+x)}=\frac{2}{1+x} \quad \text { and } \quad 2^{\left\{\log _{2} n\right\}-1}=\frac{1+x}{2} .
$$

Therefore, (15) becomes

$$
\begin{equation*}
F_{2}\left(\log _{2} n\right)=\frac{1}{2}\left(1-\log _{2}(1+x)\right)+\frac{2}{1+x} h_{2}\left(\frac{1+x}{2}\right) . \tag{17}
\end{equation*}
$$

Now, we need to evaluate $h_{2}\left(\frac{1+x}{2}\right)$. To do that, we need an explicit formula for $j_{2}$. From (10), we have

$$
\begin{aligned}
j_{2}(x) & =\int_{0}^{x}\left([2 t]-2[t]-\frac{1}{2}\right) d t \\
& =\int_{0}^{x}\left([2([t]+\{t\})]-2[t]-\frac{1}{2}\right) d t \\
& =\int_{0}^{x}\left([2[t]+2\{t\}]-2[t]-\frac{1}{2}\right) d t \\
& =\int_{0}^{x}\left(2[t]+[2\{t\}]-2[t]-\frac{1}{2}\right) d t \\
& =\int_{0}^{x}\left([2\{t\}]-\frac{1}{2}\right) d t
\end{aligned}
$$

We can see that the integrand function $[2\{t\}]-\frac{1}{2}$ is periodic with period 1 , so is $j_{2}(x)$. When $0 \leq t<\frac{1}{2},[2\{t\}]-\frac{1}{2}=-\frac{1}{2}$ and when $\frac{1}{2} \leq t<1,[2\{t\}]-\frac{1}{2}=\frac{1}{2}$. Therefore, on $[0,1]$, we have

$$
j_{2}(x)= \begin{cases}-\frac{1}{2} x, & \text { if } 0 \leq x<\frac{1}{2} \\ -\frac{1}{2}(1-x), & \text { if } \frac{1}{2} \leq x \leq 1\end{cases}
$$

For simplification, we omit the subscript 2 for the rest of this section. Note that $j=-g$ from (4) and so $h=-f$. From the definition of $h$ (see (9)), we have

$$
\begin{aligned}
h\left(\frac{1+x}{2}\right) & =\sum_{r=0}^{\infty} \frac{j\left(2^{r} \cdot \frac{1+x}{2}\right)}{2^{r}} \\
& =j\left(\frac{1+x}{2}\right)+\sum_{r=1}^{\infty} \frac{j\left(2^{r} \cdot \frac{1+x}{2}\right)}{2^{r}} \\
& =j\left(\frac{1+x}{2}\right)+\sum_{r=0}^{\infty} \frac{j\left(2^{r}(1+x)\right)}{2^{r+1}} \\
& =j\left(\frac{1+x}{2}\right)+\frac{1}{2} h(x) \\
& =j\left(\frac{1+x}{2}\right)-\frac{1}{2} f(x) .
\end{aligned}
$$

Now we substitute this into (17) and we get

$$
\begin{equation*}
F_{2}\left(\log _{2} n\right)=\frac{1}{2}\left(1-\log _{2}(1+x)\right)+\frac{2}{1+x}\left(j\left(\frac{1+x}{2}\right)-\frac{1}{2} f(x)\right) . \tag{18}
\end{equation*}
$$

Since $0 \leq x<1$, we have $\frac{1}{2} \leq \frac{1+x}{2}<1$. Thus, $j\left(\frac{1+x}{2}\right)=-\frac{1}{2}\left(1-\frac{1+x}{2}\right)$. Now, substituting this into (18), we have

$$
\begin{aligned}
F_{2}\left(\log _{2} n\right) & =\frac{1}{2}-\frac{\log _{2}(1+x)}{2}+\frac{2}{1+x}\left(-\frac{1}{2}\left(1-\frac{1+x}{2}\right)-\frac{1}{2} f(x)\right) \\
& =-\frac{\log _{2}(1+x)}{2}-\frac{f(x)}{1+x}+1-\frac{1}{1+x}
\end{aligned}
$$

At the same time, from (6), we get

$$
\begin{aligned}
E_{2}(n) & =2^{m} f(x)+2^{m-1}(1+x) \log _{2}(1+x)-2^{m} x \\
& =\frac{n}{1+x} f(x)+\frac{n}{2} \log _{2}(1+x)-\frac{n x}{1+x} \\
& =-n\left(-\frac{1}{2} \log _{2}(1+x)-\frac{f(x)}{1+x}+1-\frac{1}{1+x}\right) \\
& =-n F_{2}\left(\log _{2} n\right) .
\end{aligned}
$$

Therefore, we have proven $-E_{2}(n)=n F_{2}\left(\log _{2} n\right)$.

## 3 The $q$-base case

If $n=q^{m}(1+x(q-1))$, where $0 \leq x<1$, we can write

$$
\begin{gather*}
\log _{q} n=m+\log _{q}(1+(q-1) x)  \tag{19}\\
{\left[\log _{q} n\right]=m \quad \text { and } \quad\left\{\log _{q} n\right\}=\log _{q}(1+(q-1) x)} \tag{20}
\end{gather*}
$$

For simplification, we omit the subscript $q$. Now, we have

$$
\begin{align*}
n F_{q}\left(\log _{q} n\right) & =n\left[\frac{q-1}{2}\left(1-\log _{q}(1+(q-1) x)\right)+q^{1-\log _{q}(1+(q-1) x)} h\left(q^{\log _{q}(1+(q-1) x)-1}\right)\right]  \tag{21}\\
& =n\left[\frac{q-1}{2}\left(1-\log _{q}(1+(q-1) x)\right)+\frac{q}{1+(q-1) x} h\left(\frac{1+(q-1) x}{q}\right)\right] . \tag{22}
\end{align*}
$$

To evaluate $h$, we first find a relation between $j$ and $g$. From (10), we have

$$
j(x)=\int_{0}^{x}\left([q t]-q[t]-\frac{q-1}{2}\right) d t=\int_{0}^{x}\left([q\{t\}]-\frac{q-1}{2}\right) d t .
$$

When $q=2$, it was easy to see $j=-g$ with their explicit formulas. However, when $q>2$, it is not obvious to see the exact relation between $j$ and $g$. Let us look at some graphs of the integrand function in $j$ and the graphs of $j$ for some small $q$ (Figure 1).


Figure 1. Integrand functions in $j$ and the graphs of $j$ for some small $q$

When $a$ is a positive integer such that $0 \leq a \leq q$, we can evaluate $j$ by evaluating the net area of its integrand function: $j\left(\frac{a}{q}\right)=\frac{(a-q) a}{2 q}$. Hence, $j((q-1) x)=-g(x)$ and $h((q-1) x)=-f(x)$. Now we can evaluate $h$ and get

$$
\begin{aligned}
h\left(\frac{1+(q-1) x}{q}\right) & =\sum_{r=0}^{\infty} \frac{j\left(q^{r} \cdot \frac{1+(q-1) x}{q}\right)}{q^{r}} \\
& =j\left(\frac{1+(q-1) x}{q}\right)+\sum_{r=1}^{\infty} \frac{j\left(q^{r} \cdot \frac{1+(q-1) x}{q}\right)}{q^{r}} \\
& =j\left(\frac{1+(q-1) x}{q}\right)+\frac{1}{q} \sum_{r=0}^{\infty} \frac{j\left(q^{r} \cdot(1+(q-1) x)\right.}{q^{r}} \\
& =j\left(\frac{1+(q-1) x}{q}\right)+\frac{1}{q} h(1+(q-1) x) \\
& =j\left(\frac{1+(q-1) x}{q}\right)+\frac{1}{q} h((q-1) x) \\
& =j\left(\frac{1+(q-1) x}{q}\right)-\frac{f(x)}{q} .
\end{aligned}
$$

If we substitute this into (20), we have

$$
n F_{q}\left(\log _{q} n\right)=n\left[\frac{q-1}{2}\left(1-\log _{q}(1+(q-1) x)\right)+\frac{q}{1+(q-1) x}\left(j\left(\frac{1+(q-1) x}{q}\right)-\frac{f(x)}{q}\right)\right] .
$$

After comparing this equation and the equation of $-E_{q}(n)$, we can cancel some terms and factors, which brings it down to proving the following equation:

$$
\begin{equation*}
\frac{(1+(q-1) x)(q-1)}{2}+q j\left(\frac{1+(q-1) x}{q}\right)=a_{m}\left(1-a_{m}+(q-1) x\right)+\frac{a_{m}\left(a_{m}-1\right)}{2} . \tag{23}
\end{equation*}
$$

Since

$$
\begin{equation*}
\frac{a_{m}}{q} \leq \frac{1+(q-1) x}{q}<\frac{a_{m}+1}{q} \tag{24}
\end{equation*}
$$

we can evaluate $j\left(\frac{1+(q-1) x}{q}\right)$ and get

$$
\begin{equation*}
j\left(\frac{1+(q-1) x}{q}\right)=\frac{1}{q}\left(\left(\frac{1-q}{2}\right) a_{m}+\frac{\left(a_{m}-1\right) a_{m}}{2}+\left(1+(q-1) x-a_{m}\right)\left(a_{m}-\frac{q-1}{2}\right)\right) . \tag{25}
\end{equation*}
$$

Substituting this equation into the left hand side of (23), we can see that (23) is true. Therefore, we have proven $-E_{q}(n)=n F_{q}\left(\log _{q} n\right)$.

## 4 Conclusion

The error term of the sum of digital sum functions $A_{q}(n-1)$ has two formulas that were derived using different methods. However, they are the same quantity as we showed that one formula can be derived directly from the other.

## Acknowledgements

We appreciate some comments given by Dr. Curtis Cooper to make this paper better. We also express our gratitude to the reviewers for their time and effort in reviewing this paper, making comments for revision, and giving recommendations for future research.

## References

[1] Ballot, C. (2013). On Zeckendorf and base $b$ digit sums. The Fibonacci Quarterly, 51(4), 319-325.
[2] Bellman, R., \& Shapiro, H. N. (1948). On a problem in additive number theory. Annals of Mathematics, 49(2), 333-340.
[3] Bush, L. E. (1940). An asymptotic formula for the average sum of the digits of integers. The American Mathematical Monthly, 47, 154-156.
[4] Cheo, P., \& Yien, S. (1955). A problem on the $k$-adic representation of positive integers. Acta Mathematica Sinica, 5, 433-438
[5] Cooper, C., \& Kennedy, R. E. (1999). A generalization of a result by Trollope on digital sums. Journal of Institute of Mathematics \& Computer Sciences. Mathematics series, 12(1), 17-22.
[6] Delange, H. (1975). Sur la fonction sommatoire de la function some des chiffres. L'Enseignement Mathématique, 21, 31-47.
[7] Gadd, C., \& Wong, K. L. (2022). A generalization to Bellman and Shapiro's method on the sum of digital sum functions. The PUMP Journal of Undergraduate Research, 5, 176-187.
[8] Mirsky, L. (1949). A theorem on representations of integers in the scale of r. Scripta Mathematica, 15, 11-12.
[9] Pihko, J. (1983). An algorithm for the additive representation of positive integers. Annales Academice Scientiarum Fennica. Mathematica Dissertationes, 46, 54 pp.
[10] Trollope, J. R. (1968). An explicit expression for binary digital sums. Mathematics Magazine, 41, 21-25.


[^0]:    Copyright © 2024 by the Authors. This is an Open Access paper distributed under the terms and conditions of the Creative Commons Attribution 4.0 International License (CC BY 4.0). https://creativecommons.org/licenses/by/4.0/

